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—-72 10,299& 8% x50 Al 2F*12& 49,436
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— 4l 400,0009! * 128 4,800
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— SIS 1,500,000& x12& 18,000
— =&l 600,000& x12& 7,200
— S EES 100, 000& *23| x2[H 400
— 528 a 500, 0003 =2CH 1,000
—XEX HIIEAN =2 44 ,000& =2CH 88
— ELOI O 2 A 400, 0003 *8IH =2 CH 6,400
O0lsSddI(HE X2 0l SH2I)
20,000 *3CHx12& 720
OSAMEA 0IstUINA SN S
60,000& *23] 120
OMIIMBHAE 300,000& 23] 600
O8I ¢tz 50,000& *4CH x12& 2,400
OAr24a 2 03t ola A=l
500,000 x6& 3,000
O22E 3l 50,000& *23] 100
OxgdANEEH+E 428,000& *23| 856
Oagotd2AZ| 2 210,100& 128 2,522
OHEH X &2lH]| 416,666 128 5,000
OE=28A X224 125, 000& *8H 1,000
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01 2L Y| 10,140 10,060 80
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OHZTAIE(EN) 2,700,000 2,700
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203 PR =&H| 13,400 13,300 100
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ORANEYE gRF=&AY| 440,000 128 5,280
405 XtabFE SHI 6,000 3,200 2,800
01 AL 2B F SHI 6,000 3,200 2,800
O=F0Ig& oA TV 7 900, 000& *14] 900
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4,000,000 «98.92/100 3,957
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BE SsIf(2Y) 53,730 50,400 3,330
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05 S& -0]& -BtEEsEA= 53,730 50,400 3,330
O0l&=2YaEsH| 52,480
—-Jl2= 200,000 x16H x12& 38,400
— &= 200,000 x16H 23| 6,400
— 3ol =& 20,0003 x16H x23| x12& 7,680
Ot 4¢ 25,000 253 x2 3| 1,250
FOEN Mz (2Y) 44,800 69, 176 N24 376
201 Bt 37,800 42 464 N4, 664
01 AP 22| H| 34,800 34,464 336
OFCUIXME (EXS2) AHRA 2HH|
400,000 ~12& 4,800
OF0 XX 3o =&
20,0002 %253 x12& 6,000
OFUINIHAEH (2N 2) T2 2HY|
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— Mt s X Tk 101,090& *1H x 13| 102
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201 YEr2 Y| 108,692 105,812 2,880
01 At 22l ] 20,040 18,720 1,320
ONEEES(EY 1,800,000& 3 & 5,400
O2LS HAZER S2H(BY)
8,000& x15Y 7 x12& 10,080
OXNSEI RS (EY) 200,000& x12& 2,400
OJIEt2gH| 15,000& x12¥ ~12& 2,160
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Odteltx 22 50,000& x12& 600
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OEIUHEEH =42 150, 000& *13] 150
OUHAIRA BHINEEEZ 35,000& *23] 70
O&d UsdAdHE &Y 6,312
— M3 250,000& 128 3,000
— DNNI| HMBA EELEE
96,000& x12& 1,162
— Wk (JFA)HI 200,000& ~6& 1,200
— MO ER3 80,000& x12& 960
OXERXIH (HXE) 5,700
- S22 320,000& x12& 3,840
— =H&HI(EHOIH WH E) 250,000& =44 1,000
— B3I REES 30,000& *23] 60
— 282 700,000& *x13] 700
— XS XA 50,000& *23] 100
OXERXH (H3AX) 9,000
-2 350,000 x12& 4,200
— =&l 125,000& =128 1,500
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— =&l 100, 000& *43| 400
—B2ga 600,000& *13l 600
— XS XA 150, 000& *13] 150
— EFOI O 2 A 100, 000& x4 H 400
—OtM X0 82 20,000 x30 =122 720
O22E 3l 50,000& *13] 50
OAEON et 150,000& = 12& 1,800
O8J|exgs & ZHuWE
45,000 =20 x12& 1,080
O ZHI (AIRA =& Al 300,000 x6& 1,800
OAHEH X &2l 300,000& *123] 3,600
202 4] 25,140 29,220 AN4,080
01 2LHHI 5,340 7,620 N2,280
OZ2UHAd(sH) 20,0003 *11H 12 2,640
O=UoH Bl (A2 ELH) 100,000& x1H x12& 1,200
OHXX AHAESH(EH) 1,500,000& * 14 1,500
02 AN YI 19,800 21,600 A 1,800
OAANZEEHHHI(ZY) 150,000& *11H = 12& 19,800
203 ¥R =&XH| 10,200 10,120 80
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Os&el =2 Ex=3At
20,000, 000& *98.92/100 19,784
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Ous =23 At 15,000,000% *98.92/100 14,838
OJEt s ZEHIA 15,000,000% *98.92/100 14,838
oYy =23 At 15,000,000% *98.92/100 14,838
OF& =22 ZA 15,000,000% *98.92/100 14,838
O2F =24 & =22 A
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O&Hd =2 ELZA
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Olls s2EZ &3 A 10,000,0002 *98.92/100 9,892
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OAnE F0=JAAY AIEd20I
190,000,000& *1.08/100 2,052
STALE SEF5(W2) 20,000 20,000 0
FANE BB (HR) 20,000 20,000 0
202 A8 &X, B4 (82) 20,000 20,000 0
401 Al HI & 28I 20,000 20,000 0
01 A& HI 20,000 20,000 0
O20le=A4d B3 A 20,000,000& 20,000
RN Y A (W) 270,729 254,279 16,450
OIE0 EU(H2) 170,450 168,450 2,000
et 25 X3 (H2) 110,490 110,490 0
301 LEtE A= 110,490 110,490 0
05 & -0l - EBHEESENS 110,490 110,490 0
O0lE+g & &3l 108,240
—Jl=s 200,000& x33H «12& 79,200
— &0z 200,000& 33 x23| 13,200
— 3o 20,0003 *33H #23| x 128 15,840
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10,0003 452 %22t +23] 1,800
206 24 3,000 3,000 0
01 M= Hl 3,000 3,000 0
Okg4¥ 22 x4 3,000,000& 3,000
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
MEzy Fa(FdH) 18,360 17,496 864
201 £et23E | 3,000 1,500 1,500
01 At 22l bl 3,000 1,500 1,500
ONM&Z&EH Xz 500,000 »6CH 3,000
206 M= Hl 2,000 4,570 N2,570
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OM& Zatzs 7¢ 350,000& ~4= 1,400
OM&Jl sX 22t 100,000& ~6CH 600
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02 ezl X RESEHS 13,360 11,426 1,934
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OTHol CH 2 AT H 8,000& 85 680
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OXN2=sE 39d ustl 30,0008 *12 30
02 832gHl 13,860 0 13,860
ox=2s=g dJIes 1,000,000& =10 10,000
OX2=ssE Sdes 12,5003 =128 150
Ox2=s=sg & o= 250,000& 103 2,500
OXN2=ssE Adeds &g 15,0003 122 180
ox=2=s=g =) Xz 40,000 x 128 480
OX2=ssg 2483 F ol
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01 2LHoIHI 4,620 7.860 3,240
OZ2UHAd(5H) 20,0003 *13H x12& 3,120
OHZTAIE(ENH) 1,500,000& *x13] 1,500
02 AN Y| 31,200 31,200 0
OHAHHI(BNH) 200,000& x13¥ x12& 31,200
203 € R =&lY| 10,841 10,200 641
01 J|2A2I PR =&Y 6,600 6,600 0
OJ|#2dggd=a| 550,000& x12& 6,600
02 RN R = XY 641 600 41
O&JAINNMERF=AH| 53,400& x12& 641
04 2SI L RF=AH| 3,600 3,000 600
OBM2gId2=XH|(13¥) 300,000& x12& 3,600
HESEHHHAL(=AH) 4,400 0 4,400
405 Xtk S| 4,400 0 4,400
01 At = S F SHI 4,400 0 4,400
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